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const int MAXN=2e6+5,MAXS=2e5+5;
int idx[MAXN];
struct AC
int ch[MAXS ,val[MAXS|,fail|MAXS|,cnt[MAXS]|,deg/MAXS]|,6 sz, tot;
int ans|[MAXS];
int insert(char *s
int len=strlen(s),pos=0;
_for(i,0,len
int c=s[i]-'a';
I'chipos||c
chipos||[cl=++sz;
val/sz|=faillsz|=0;
mem(ch[sz|,0);

pos=ch[pos|ic]l;

Ival|pos val|pos|=++tot;
val/pos]|;

void getFail
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16:10
queue<int> q;
_for(i,o0,
ch i
g.push(ch il);
Iq.empty
int u=q.front();q.pop();
_for(i,o0,
chiulli
deglch[faillul | 1] [++;
failich|ul[i]|=ch[faillu il;
g.push(chlul[i]);
chiullil=ch[faillu il;
void topu
gqueue<int> q;
_rep(i,l,sz
ldeg/i/&&failli
g.push(i);
Iq.empty
int u=q.front();q.pop();
faillu
cnt[faillul [+=cntu];
deg/ faillul|--;
ldeg/ faillu
g.push(faillu]);
void query(char *s
int len=strlen(s),pos=0;
_for(1i,0,len
pos=ch/pos||(s|[i/-'a'l;
cnt|pos|++;
topul();
_rep(i,1,sz
valli
ans|vallill=cnt(i];
solver;
char buf[MAXN];
int main

int n=read_int();
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_rep(i,1,n
scanf("%s",buf);
idx[i]=solver.insert(buf);

solver.getFail();
scanf("%s",buf);
solver.query(buf);
_rep(i,1,n
enter(solver.ans|idx|[1i ;
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